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PART A — (10 x 2 = 20 marks)

Define aperating ayatem.

Lint the sorvicen of OS.

State the critical section problem.
Name the four conditiona for deadlock.
What is awapping?

Define thrashing.

What is n scquontial-access file?

Define nn immutable shared file.

8 N B2 aw g

What is a virtual machine?

Write a nate on Android.

o

PART B — (8 x 13 = 63 marks)

Explain the functions performed by an operating system. Q

Or
What is a system call? Elaborate on the types of system calls.

11. (a)
il
() (
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With a neat sketch, explain the diffcrent stales of a procese.

1Z. (a) ()
(i) How prmcesa synchroni:alion ia achicved uping sem nphores? Gx‘v!;

an cxample

(h)

Or

(b) Write Hankcrs algonithm fer deadiock nvoidance. Kxplmin wnh(ln:;;

example,

13. (a) What s paging? Elaborate paging with an example and a diagram. (13

Or

i ; . Jacement algoenthm and optimal page
(b) Explain first-in, first-out page replace g foid

replacement algorithm with an example and dingrims.

¢line a tree-structured directory structure and an

i 2
14 (a) Whntis a dircctory? Ou it

acyclic-graph directory structure with appropnale examples.
Or
(®) Explain contiguoua allocation and linked allocation of disk space with an
exnmples. (13)
15, (a) Presont an outhine of the types of virtual machines. Explain in detal. (13)

“@r . .
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(b) Outline the operaling aystem aspecta of virtunlization in the m:atcxt of
operating system functions scheduling, VO and memory management
(13)

PART C — (1 x 15 = 15 marks)

16. (a) Conuider the following five processes that arrive at time 0, with the
length of the CPU burst time given in millireconds.

Process CPU BURST TIME

P 10
Pz 29
Ps 3
P 7
Ps 12

Consider the Firat Cum First Serve (FCFS), non-preemptive Shorteat Job
First‘(SJP'i. Round Robin (RR) (quantum = 10 milliseconda) .chgc;uhn'
algorithma. lllustrate the scheduling using Gantt chart. Which algorithm

will give the minimum average waiing time? (15)
Or
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(b)
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for VO to blocka on cylinders in the

Consider, a disk quoue with requesta s

following order:

93, 183, 37, 122, 14, 124, 65, 67

in Ainsti ] line Girst-come. firat
' tor is initinlly nt cylinder 53. Outlir
Eth‘ifsia:i:f:ihﬁaoc;:]fgg algorithm, SCAN diak scheduling algorithm and

shortost-seck- time-first disk scheduling algorithm with a dingram.
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